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[image: image1.png]- To construct an image of a figure under rotation with a given angle around the origin on a plane



[image: image2.png])» Rotations About the Origin

Model: Rotate triangle DEF 90° clockwise
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[image: image3.png]p» Rotations About the Origin

Now You Help: Rotate ARST 180° counter clockwise

180° Counter-Clockwise Rule

(x. y) = (-x, -y)
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[image: image4.png]IndependentiPractice

AXYZ has the vertices X(3, -1), Y (5, -4) and Z(1, -5). Graph AXYZ and its
image after each rotation, the give the vertices for AX'Y'Z".
Rotation 5: Rotation 6: Rotation 5:
180° clockwise 270° clockwise 2700 counter-clockwise
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[image: image5.png]% H.O.T. Problems Higher Order Thinking

4. (D Persevere with Problems Triangle ABC has vertices A(0, 4), B(0, —2),

and C(2, 0). The triangle is reflected over the x-axis. Then the image is

rotated 180° counterclockwise about the origin. What are the coordinates
of the final image?

7 @ Persevere with Problems Triangle QRS is translated 7 units right,
then rotated 90° clockwise about the origin. The vertices of triangle Q"R"S”
are Q"(6, —1), R"(0, —1), and S"(0, —7). Find the coordinates of AQRS.





[image: image6.png]8. @ Reason Inductively Will a geometric figure and its rotated image always,
sometimes, or never have the same perimeter? Explain your reasoning.





